1. #ERX

FREMEEEEE

[SZH] (HOZ: 1) [UeA] (BT M)
X5y S E X5y SH T2
JEAT R 1, 650, 000 EREAZE 2,000, 000
Bk 2 2 1,950, 000 &A% 2,000, 000
SEI T2 1,000, 000 Z O 0
CYN ¢ 400, 000 B4 1,000, 000
FDORE 0 i 5,000, 000
&t 5, 000, 000
2. XHWR
(D) JF#ret - BIRHE (B 2 F)
A 2285 HLAT SHE e
8 #1 (J1S.G.3050SS45) 1000kg 750 750,000
8/ A F(JIS.H.3303) 300m 3,000 900,000
&t 1,650,000
(2) HWIREEE (HAT : 1)
g H: HAT HE e
AREENIA) 18 1,500,000 1,500,000
OIE(OO+t# PDY) 450,000 450,000
at 1,950,000
(3) sEmTE (BT M)
HH Hok HLAT BHE e
S+ #EFLAD T 5 {4 200,000 1,000,000




At

1,000,000
(4) PEEMERE - BINEEEAR (G A))
HH Eg ey HAffh &K B
OOH fiTfgE 20 [g] 20,000 400,000
At 400,000
(5) ZFothoRkRE (BAL : )
HH brgy B AKA k=

2]




